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BOOKS - RD SHARMA MATHS (HINGLISH)

SQUARES AND SQUARE ROOTS

1.1s 225 a perfect square ? if so, find the number whose

square is 225.

o Watch Video Solution
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2. Show that 63504 is perfect square. Also, find the

number whose square is 63504.

o Watch Video Solution

3.Show that 17640 is not a perfect square.

° Watch Video Solution

4. Find the smallest number by which 180 must be

multiplied so that the product is a perfect square.

o Watch Video Solution



https://dl.doubtnut.com/l/_3rAvqAR6cLXD
https://dl.doubtnut.com/l/_Ngy9qyvdlATt
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5. Find the smallest number by which 25200 should be

divided so that the result is a perfect square.

o Watch Video Solution

6. Which of the following numbers are perfect squares?
(i)484 (i) 625 (iii) 576 (iv) 941 (v)961

(vi) 2500

o Watch Video Solution

7. Show that each of the following numbers is a perfect

square. Also, find the number whose square is the given


https://dl.doubtnut.com/l/_rjZOpsHCXtIS
https://dl.doubtnut.com/l/_w1nTijFhxsPz
https://dl.doubtnut.com/l/_FQ446xcFx8Cv

number in each case: (i)1156 (i) 2025 (iii)

14641 (iv) 4761

° Watch Video Solution

8. Find the smallest number by which the given number
must be multiplied so that the product is a perfect

square : (i)23805 (ii) 12150 (iii) 7688

O Watch Video Solution

9. Find the smallest number by which the given number
must be divided so that the resulting number is a

perfect square : (i)14283 (ii) 1800 (iii) 2904
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10. Which of the following numbers are perfect squares ?

11,12, 16, 32, 36, 50, 64, 79, 81, 111, 121

° Watch Video Solution

11. Using prime factorization method, find which of the
following numbers are perfect squares ? 189, 225, 2048,

343, 441, 2916, 11025, 3549

o Watch Video Solution



https://dl.doubtnut.com/l/_DYxID1vhdSRV
https://dl.doubtnut.com/l/_6KJWK0Uw1cNd
https://dl.doubtnut.com/l/_BgEcl9hHravf

12. By what number should each of the following
numbers be multiplied to get a perfect square in each
case ? Also, find the number whose square is the new

number. (i)605(iv)2880

° Watch Video Solution

13. By what numbers should each of the following be
divided to get a perfect square in each case? Also , find
the number whose square is the new number.
(i)16562 (i) 3698 (iii) 5103

(iv)3174 (v) 1575

° Watch Video Solution



https://dl.doubtnut.com/l/_alzenyjxFByC
https://dl.doubtnut.com/l/_JLL0Tcc4gmvc

14. Find the greatest number of two digits which is a

perfect square.

o Watch Video Solution

15. Find the least number of three digits which is perfect

square.

o Watch Video Solution

16. Find the smallest number by which 4851 must be

multiplied so that the product becomes a perfect square.

o Watch Video Solution



https://dl.doubtnut.com/l/_HKcKv2c7ODXt
https://dl.doubtnut.com/l/_JlDczwGbDtUV
https://dl.doubtnut.com/l/_vlRW1oaXQC3m

17. Find the smallest number by which 28812 must be

divided so that the quotient becomes a perfect square.

o Watch Video Solution

18. Find the smallest number by which 1152 must be
divided so that it becomes a perfect square. Also, find

the number whose square is the resulting number.

° Watch Video Solution

19. None of the numbers 152, 7693, 14357, 88888, 798328 is

a perfect square.
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20. 635, 98, 122 are not perfect squares as they leave

remainder 2 when divided by 3.

° Watch Video Solution

21. 67, 146, 363, 10003 are not perfect squares as they
leave remainder 3,2,3 and 3 respectively, when divided by

4,

° Watch Video Solution



https://dl.doubtnut.com/l/_eCPjpXAIgfnd
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22. Find the square root of the following number by

prime factorization. 484

o Watch Video Solution

23. (3,4,5), (5,12,13), (8,15, 17) etc. are
Pythagorean triplets, because 3%+ 4% = 25 = 5?

52 + 122 = 169 = 132 8% + 152 = 289 = 172

° Watch Video Solution

24. Write a Pythagorean triplet whose one member is :

(6 (i) 18
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25. The following numbers are not perfect squares. Give
reason. (1)1057 (i) 23453 (iii) 7928 (iv)

222222

° Watch Video Solution

26. What will be the units digit of the squares of the
following numbers? (1)71 (ii) 599 (iii)) 2783

(iv) 1234

o Watch Video Solution



https://dl.doubtnut.com/l/_8Cnh95OazMhJ
https://dl.doubtnut.com/l/_nJk8c3oQAZm8
https://dl.doubtnut.com/l/_aWjqAqINwLja

27. Which of the following end with digit 1 ?

123%, 772, 822, 1612, 109°

o Watch Video Solution

28. Determine whether squares of the following numbers
are even or odd. (1)213 (ii) 3824 (iii) 9777 (iv)

40028

° Watch Video Solution

29. The following numbers are not perfect squares. Given
reason. (1)64000 (i) 89722 (iii)) 222000 (iv)

505050


https://dl.doubtnut.com/l/_7AGQBLX3mMjB
https://dl.doubtnut.com/l/_21Dcz7O5armh
https://dl.doubtnut.com/l/_y1DKsu56w3qC

o Watch Video Solution

30. write a Pythagorean triplet whose one member is

()14 (i) 16

o Watch Video Solution

31. Without adding, find the sum: i) 1 +3 4+ 5+ 7 4 9ii)
1+34+5+7+9+11+13+15+ 17+ 19 iii)

1+3+54+7+94+ 114134154174 19 4 21 4 23

° Watch Video Solution



https://dl.doubtnut.com/l/_y1DKsu56w3qC
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https://dl.doubtnut.com/l/_YySi3BNgdQLF

32. Express: 49 as the sum of 7 0dd natural numbers. 121

as the sum of 11 odd natural numbers.

o Watch Video Solution

33. How many natural numbers lie between squares of
the following natural numbers? (1)12 and 13 (ii) 25

and 26 (iii) 99 and 100

° Watch Video Solution

34. Express each of the following as the sum of two

consecutive natural numbers : (I)212 (i) 132 (iii) 192



https://dl.doubtnut.com/l/_ePl0zkEPdt1m
https://dl.doubtnut.com/l/_xYD4q5H2lDrL
https://dl.doubtnut.com/l/_jvgDaIL0tVAH
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35. Find whether 55 is a perfect square or not?

° Watch Video Solution

36. Observe the following pattern and find the missing

digits:
112 = 121
1012 = 10201

10012 = 1002001
100012 = 100020001
1000012 = 10000200001

100000012 =

S ]
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37. Using the given pattern, find the missing numbers:
1 +2°+2° =3

2 +3+6 =7

3+ 4% +12° = 13°

42 152 4 ()2 _ 972

52 + () + 307 = 312

6"+ 7+ (" = ()’

° Watch Video Solution

38. Using suitable patterns, compute the following : (I)
333° .. 666666

12321~ W T5325654301

| |
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39. The following numbers are not perfect squares. Give
reason. (1)1547 (i) 45743 (iii) 8948 (iv)

333333

° Watch Video Solution

40. Show that the following numbers are not perfect
squares: (1)9327 (i) 4058 (iii)22453

(iv) 7443522

o Watch Video Solution



https://dl.doubtnut.com/l/_HTTauh1pXDDz
https://dl.doubtnut.com/l/_S5eIIBDUYeQQ
https://dl.doubtnut.com/l/_OKgpG6fgPPgp

41. The square of which of the following numbers would
be an odd numbers : (1)731 (i) 3456 (iii)

5559 (iv) 42008

° Watch Video Solution

42. What will be the units digit of the squares of the

following numbers: (1)52 (i) 977
(iii) 4583 (iv)78367 (v) 52698 (vi)
99880 (vii)12796 (viii) 55555 (ix) 53924

° Watch Video Solution



https://dl.doubtnut.com/l/_btlcFH5pfrzV
https://dl.doubtnut.com/l/_XqGiDtZsboFl

43, Observe the following pattern 1 4+ 3 = 22
1+3+4+5=3

1+3+5+7=4

and write the value of 1+34+54+7+9+ upto n

terms.

o Watch Video Solution

44, Observe the following pattern 22 —12 =241
32 -22-3+24>-32=4+35"—-4>=5+4 and
find the value of (1)100%2 — 992 (ii) 1112 — 109% (iii)

992 — 962

° Watch Video Solution



https://dl.doubtnut.com/l/_O8JEmAYKzFcq
https://dl.doubtnut.com/l/_beAoE6oUI0mg

45. Which of the following triplets are Pythagorean? (l)
(8, 15,17) (i) (18, 80,82) (iii)(14,48,51)  (iv)

(10, 24, 26) (v)(16, 63, 65) (vi) (12, 35, 38)

° Watch Video Solution

46. Observe the following pattern
ﬂx2y+@x3):3ﬁ§ﬁ£w
(1><2)+(2><3)+(3><4):3><+4><5,

(1x2) +(2x3) + (B 4) + (4x 5) = XL
and find the value of

(1x2)+(2x3)+(3x4)+(4x5)+(5x6)

° Watch Video Solution



https://dl.doubtnut.com/l/_bP0mUXJ0mUBq
https://dl.doubtnut.com/l/_Vb2EB8Eb1Lxc

47. Observe the following pattern 1 = %{1 x (14+ 1)},
1+2= %{2>< (2+1)},

1+2+3= %{3>< (3+ 1)},

1+2+3+4= %{4 X (44 1)} and find the values of
each of the following : 14+2+3+44+54+ + 50,

31+ 32+ + 30

° Watch Video Solution

48. Observe the following pattern (1)

12:%[1><(1+1)><(2><1+1)], (ii)

1
P2 = S (24 1) x (2% 24 1)

1
12+22+32=€[3><(3+1)><(2><3+1)],

1
42848 447 = 2Ax (441) x (2x 4+ 1),


https://dl.doubtnut.com/l/_BTtlue5U2uEK
https://dl.doubtnut.com/l/_k5WCX9jLzjno

and find the values of each of the following
12 + 22 + 32 + 42 + + 107,

52 + 62 + 72 + 8% + 92 + 10% + 112 + 122

° Watch Video Solution

49. Which of the following square numbers are squares

of even numbers ? 121,225, 256, 324,1296, 6561, 5476, 4489

O Watch Video Solution

50. By just examining the units digits, can you tell which

of the following cannot be whole squares? (1)1026


https://dl.doubtnut.com/l/_k5WCX9jLzjno
https://dl.doubtnut.com/l/_CwoiDwjy01bO
https://dl.doubtnut.com/l/_tFoAuHWuViqX

(i) 1028 (i) 1024 (iv)1022

(v) 1023 (vi) 1027

o Watch Video Solution

51. Write five numbers for which you cannot decide

whether they are squares just by looking at unit digit.

o Watch Video Solution

52. Write five numbers which you connot decide whether

they are square just by looking at the units digit.

o Watch Video Solution



https://dl.doubtnut.com/l/_tFoAuHWuViqX
https://dl.doubtnut.com/l/_iE9WAaakzB2h
https://dl.doubtnut.com/l/_sUiEO3XZAwnf
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53. Find the square root of the following number by

prime factorization. 324

° Watch Video Solution

54. Find the squares of the following numbers: (1)65

(i) 85 (iii) 95

° Watch Video Solution

55. Find the squares of the following numbers:

(1)56 (i) 58 (i) 59

o Watch Video Solution



https://dl.doubtnut.com/l/_0yOcpRXEFWYE
https://dl.doubtnut.com/l/_9aKpsce9Vbcm
https://dl.doubtnut.com/l/_nKonzJ0Jt9kp

56. Find the squares of the following numbers:

(1)527 (i) 514 (i) 525

o Watch Video Solution

57. Find the square of the following numbers:

(1)125 (i) 215 (i) 1235

o Watch Video Solution

58. Find the squares of the following numbers:

()35 (i) 105 (il)) 2005

o Watch Video Solution



https://dl.doubtnut.com/l/_32y6OxPDGnWP
https://dl.doubtnut.com/l/_GIiCIi5TRoLR
https://dl.doubtnut.com/l/_AodfYrIW6978

59. Find the squares of the following numbers;

(1)515 (i) 580 (iii) 509

o Watch Video Solution

60. Find the squares of the following numbers using the

2

identity (a + b)° = a® + 2ab + b? (1)509 (ii) 211 (iii) 625

o Watch Video Solution

61. Find the squares of the following numbers using the

identity (a — b)° = a® — 2ab + b* (1)491 (ii) 189 (iii) 575

o Watch Video Solution



https://dl.doubtnut.com/l/_NKHYnwXBi9No
https://dl.doubtnut.com/l/_76g1KjiTDtwO
https://dl.doubtnut.com/l/_xZo4GKBIN3gp

62. Find the squares of the following numbers using
column method. Verify the result by finding the square
using the usual multiplication: (1)25 (ii)

37 (i) 54 (iv)71 (v) 96

° Watch Video Solution

63. Find the square root of the following number by

prime factorization. 1764

° Watch Video Solution

64.Find the squares of the number127
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65. Find the squares of the following numbers:

(425 (i) 575 (iii) 405
(iv)205 (v) 95 (vi) 745
(vii)125 (viii) 995

° Watch Video Solution

66. Find the squares of the following numbers using the
identity (a + b)® = a® + 2ab + b*: (1)405 (ii) 510 (iii)

1001 (iv)209 (v) 605

° Watch Video Solution



https://dl.doubtnut.com/l/_E9exEvxpChBY
https://dl.doubtnut.com/l/_hLCH03kkEcRl
https://dl.doubtnut.com/l/_lZRpi8vPdtGA
https://dl.doubtnut.com/l/_m5glMXIelNB9

67. Find the squares of the following numbers using the
identity (a — b)2 — a® — 2ab + b*: (1)395 (ii) 995 (iii)

495 (iv) 498 (v)99 (vi) 999 (vii) 599

o Watch Video Solution

68. Find the squares of the following number by visual

method: 52

° Watch Video Solution

69. Find the square root of 36 by successive subtractions.

o Watch Video Solution



https://dl.doubtnut.com/l/_m5glMXIelNB9
https://dl.doubtnut.com/l/_VDLLK6VOvI3Y
https://dl.doubtnut.com/l/_ZLqW526BkVqZ

70. Find the square root of 11025 by prime factorization.

o Watch Video Solution

71. Find the square root of 7744 by prime factorization.

o Watch Video Solution

72.Find the square root of 298116 by prime factorization.

° Watch Video Solution



https://dl.doubtnut.com/l/_28VjmsY8XQ9d
https://dl.doubtnut.com/l/_SSPn6AIsWiM6
https://dl.doubtnut.com/l/_DS5QKfBncFyf

73. Find the smallest number by which 1100 must be
multiplied so that the product becomes a perfect square.
Also in each find the square root of the perfect square so

obtained.

O Watch Video Solution

74. Find the smallest number by which 9408 must be
divided so that it becomes a perfect square. Also, find

the square root of the perfect square so obtained.

° Watch Video Solution



https://dl.doubtnut.com/l/_chpcTHjQS72b
https://dl.doubtnut.com/l/_pvaRGdaqKxRo

75. 5929 students are sitting in an auditorium in such a
manner that there are as many students in a row as
there are rows in the auditorium. How many rows are

there in the auditorium.

O Watch Video Solution

76. A general wishing to arrange his men, who were
335250 in number in the form of a square found that
there were 9 men left over. How many were there in each

row?

o Watch Video Solution



https://dl.doubtnut.com/l/_FDMzJ2pmBku4
https://dl.doubtnut.com/l/_FI4Aqho8gYTk

77. The product of two numbers is 1575 and their

9
quotient is 7 Find the numbers.

o Watch Video Solution

78. Find the smallest square number divisible by each

one of the numbers 8,9 and 10.

o Watch Video Solution

79. What could be the possible ones digits of the square
root of each of the following numbers? (i) 9801 (ii) 99856

(i) 998001 (iv) 657666025
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80. Find the square root of the following number by

prime factorization. 441

° Watch Video Solution

81. Find the square root of each of the following by

prime factorization. (1)7056 (i) 8281
(iii) 11664 (iv)47089 (v) 24336 (vi)
190969

o Watch Video Solution



https://dl.doubtnut.com/l/_va3LyboiYGXk
https://dl.doubtnut.com/l/_8qp5qxaPorgL
https://dl.doubtnut.com/l/_0y5VDio6vJgG

82. Find the square root of each of the following by
prime factorization. (1)586756 (i) 27225

(i) 3013696

° Watch Video Solution

83. Find the smallest number by which 180 must be
multiplied so that it becomes a perfect square. Also find

the square root of the perfect square so obtained.

o Watch Video Solution

84. Find the smallest number by which 147 must be

multiplied so that it becomes a perfect square. Also find


https://dl.doubtnut.com/l/_bVvdSTjq6h88
https://dl.doubtnut.com/l/_leeQuTIRdD2V
https://dl.doubtnut.com/l/_mEsEBSD4g66F

the square root the number so obtained.

° Watch Video Solution

85. Find the smallest number by which 3645 must be
divided so that it becomes a perfect square. Also find the

square root of the resulting number.

o Watch Video Solution

86. Find the smallest number by which 1152 must be
divided so that it becomes a perfect square. Also, find

the square root the number obtained.

o Watch Video Solution



https://dl.doubtnut.com/l/_mEsEBSD4g66F
https://dl.doubtnut.com/l/_P9afc5oDu9yb
https://dl.doubtnut.com/l/_n9sL6R40tjAF

87. The product of the two numbers is 1296. If one

number is 16 times the other, find the numbers.

o Watch Video Solution

88. A welfare association collected Rs 202500 as
donations from the residents. If each paid as many
rupees as there were residents, find the number of

residents.

o Watch Video Solution



https://dl.doubtnut.com/l/_n9sL6R40tjAF
https://dl.doubtnut.com/l/_1qTSyDzLJfQE
https://dl.doubtnut.com/l/_XVw5zR6Uo661

89. A society collected Rs 92.16. Each member collected as
many paise as there were members. How many members

were there and how much did each contribute?

° Watch Video Solution

90. A school collected Rs 2304 as fees from its students.
If each student paid as many paise as there were
students in the school, how many students were there in

the school ?

° Watch Video Solution



https://dl.doubtnut.com/l/_OHcMcpOslIL5
https://dl.doubtnut.com/l/_8ypa5UdDU6yC

91. The area of a square field is 5184 m?. A rectangular
field, whose length is twice its breadth has its breadth
has its permeter equal to the perimeter of the square

field. Find the area of the rectangular field.

° Watch Video Solution

92. Find the least square number, exactly divisible by

each one of the numbers: 6,9, 15 and 20

o Watch Video Solution

93. Find the square roots of 121 and 169 by the method of

repeated subtraction.


https://dl.doubtnut.com/l/_uvPNptdTaIn1
https://dl.doubtnut.com/l/_c1usl36TiTSZ
https://dl.doubtnut.com/l/_DYDXN4yy0onx

o Watch Video Solution

94. Write the prime factorization of the number and

hence find their square roots. 7744

o Watch Video Solution

95. The students of class VIl of a school donated Rs 2401
for PM’s National relief fund. Each student donated as
many rupees as the number of students in the class. Find

the number of students in the class.

° Watch Video Solution



https://dl.doubtnut.com/l/_DYDXN4yy0onx
https://dl.doubtnut.com/l/_E3BqxTPEsoVm
https://dl.doubtnut.com/l/_6nVGLpqMLtwB
https://dl.doubtnut.com/l/_mnElxduEMiAx

96. A PT teacher wants to arrange the maximum possible
number of 6000 students in a field such that the number
of rows is equal to the number of columns. Find the

number of rows if 71 were left out after arrangement.

© Wwatch video Solution

97. Find the number of digits in the square roots of each
of the following perfect squares : (i)390625 (ii)1758276

(iii152399025

o Watch Video Solution



https://dl.doubtnut.com/l/_mnElxduEMiAx
https://dl.doubtnut.com/l/_m9cheVVaK59D

98. Find the square root of the following numbers by

long division method :54756

o Watch Video Solution

99. Find the least number which must be subtracted
from 18265 to make it a perfect square. Also, find the

square root of the resulting number.

° Watch Video Solution

100. Find the least number which must be added to

306452 to make it a perfect square.
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101. Find the greatest number of six digits which is a

perfect square.

° Watch Video Solution

102. Find the least number of four digits which is a

perfect square.

o Watch Video Solution

103. Find the square root of each of the following by

long division method: (i)12544 (ii)97344



https://dl.doubtnut.com/l/_aaVAqgyoi8nY
https://dl.doubtnut.com/l/_2otLCnQV1SlZ
https://dl.doubtnut.com/l/_bFnEChv2zeVY
https://dl.doubtnut.com/l/_g4XSTRwZAjbq

l ° Watch Video Solution

104. Find the square root of each of the following by

long division method: (i)120409

° Watch Video Solution

105. Find the square root of the following by long

division method: 20657025

o Watch Video Solution

106. Find the square root of the following by long

division method: 6407522209


https://dl.doubtnut.com/l/_g4XSTRwZAjbq
https://dl.doubtnut.com/l/_EyCtuOzNcv45
https://dl.doubtnut.com/l/_Eayxl5fq4Fhf
https://dl.doubtnut.com/l/_OJQy7fhJeL8h

o Watch Video Solution

107. Find the least number which must be subtracted
from the following numbers to make them a perfect

square : (i) 2361(ii)194491

o Watch Video Solution

108. Find the least nhumber which must be subtracted

from 5607 to make a perfect square.

° Watch Video Solution



https://dl.doubtnut.com/l/_OJQy7fhJeL8h
https://dl.doubtnut.com/l/_PAujpD9NiQGI
https://dl.doubtnut.com/l/_Ta7slSURbROJ

109. Find the greatest number of 5 digits which is a

perfect square.

o Watch Video Solution

110. Find the least number of 4 digits which is a perfect

square.

o Watch Video Solution

111. Find the least number of six digits which is a perfect

square.

o Watch Video Solution



https://dl.doubtnut.com/l/_S9Mc5KxAd1Oi
https://dl.doubtnut.com/l/_SsxH0Nii22AK
https://dl.doubtnut.com/l/_wzMA9CPemI7F

12. Find the greatest number of 4 digits which is a

perfect square.

o Watch Video Solution

113. A general arrangers his soldiers in rows to form a
perfect square. He finds that in doing so, 60 soldiers are
are left out. If the total number of soldiers be 8160, find

the number of soldiers in each row.

o Watch Video Solution

114. The area of a square field is 60025 m?. A man cycles

along its boundary at 18 km// h. In how must time will he


https://dl.doubtnut.com/l/_0Xi6uhPKXPLC
https://dl.doubtnut.com/l/_59Iklmksqn1B
https://dl.doubtnut.com/l/_cvOQriehdEYp

return at the starting point ?

° Watch Video Solution

115. The cost of levelling and turfing a square lawn at Rs
2.50 per m? is Rs 13322.50. Find the cost of fencing it at

Rs 5 per metre.

o Watch Video Solution

116. Find the greatest number of three digits which is a

perfect square.

o Watch Video Solution



https://dl.doubtnut.com/l/_cvOQriehdEYp
https://dl.doubtnut.com/l/_npvwktM5Nn01
https://dl.doubtnut.com/l/_NIbMTr7KEYsM
https://dl.doubtnut.com/l/_bvqGvY6cMIwU

117. Find the smallest humber which must be added to

2300 so that it becomes a perfect square.

° Watch Video Solution

118. Find th t of 256
-Find the square root of —-—

° Watch Video Solution

625
1296

119. Find the square root of

o Watch Video Solution



https://dl.doubtnut.com/l/_bvqGvY6cMIwU
https://dl.doubtnut.com/l/_4BgHeEVLr4eu
https://dl.doubtnut.com/l/_wRI1gqktsPKr
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120. Find the square root of 52?16'

o Watch Video Solution

121. The area of a square field is 101m square metres.

Find the length of one side of the field.

° Watch Video Solution

122. Find the square root of the 0.813604 in the decimal

form.

o Watch Video Solution



https://dl.doubtnut.com/l/_1PaKLKJATEy5
https://dl.doubtnut.com/l/_5VW8WRqLN6e7
https://dl.doubtnut.com/l/_HqcMWQZZ2uuw
https://dl.doubtnut.com/l/_3toD4pYkiWwV

123. Find the square root of the 0.00002025 in the

decimal form.

o Watch Video Solution

124. Find the square root of: ﬂ
961

o Watch Video Solution

125. Find the square root of : ﬁ
841

° Watch Video Solution



https://dl.doubtnut.com/l/_3toD4pYkiWwV
https://dl.doubtnut.com/l/_zlO5pjiNpfqb
https://dl.doubtnut.com/l/_9bzVz5igiBdR

126. Find the square root of the 225.6004 in the decimal

form.

o Watch Video Solution

127. Find the square root of the 3600.720036 in the

decimal form

o Watch Video Solution

128. The area of a square field is 80@ square metres.

Find the length of each side of the field.

o Watch Video Solution



https://dl.doubtnut.com/l/_Cjquo0Uzc4tt
https://dl.doubtnut.com/l/_xCtgJceUctkw
https://dl.doubtnut.com/l/_dXMxh9BRtRxC

1
129. The area of a square field is 3OZ m?. Calculate the

length of the side of the square.

° Watch Video Solution

130. Find the length of side of a square playground
whose area is equal to the area of a rectangular field of

dimensions 72 m and 338 m.

o Watch Video Solution

131. Find the square root of 447.3225.

° Watch Video Solution



https://dl.doubtnut.com/l/_4imBDSaLWAjU
https://dl.doubtnut.com/l/_BoN25ui6qU7w
https://dl.doubtnut.com/l/_7W8BWIEwwmHz

132. Find the square root of 0.00008281.

o Watch Video Solution

133. Find the square root of 0.053361.

° Watch Video Solution

134. A decimal fraction is multiplied by itself. If the

product is 251953. 8025, find the fraction.

o Watch Video Solution



https://dl.doubtnut.com/l/_7W8BWIEwwmHz
https://dl.doubtnut.com/l/_WwlbUNwEZfJL
https://dl.doubtnut.com/l/_rY6so2cN2TUM
https://dl.doubtnut.com/l/_qEUZIQn6uIva
https://dl.doubtnut.com/l/_wplwc2ZhM3yv

135. Find the value of /15625 and the use it to find the

value of /156. 25 + /1. 5625.

o Watch Video Solution

136. Find the square roots of 2304 and 1764 and hence

v/0. 2304 + /0. 1764
V0. 2304 — /0. 1764

find the value of

o Watch Video Solution

137. Find the square root of the following numbers in

decimal form: 0.7225

o Watch Video Solution



https://dl.doubtnut.com/l/_wplwc2ZhM3yv
https://dl.doubtnut.com/l/_9W2ccHvYPny6
https://dl.doubtnut.com/l/_LoToy5yOQexC

138. Find the square root of the following numbers in

decimal form: 84.8241

o Watch Video Solution

139. What is that fraction which when multiplied by itself

given 227. 798649 ?

o Watch Video Solution

140. The area of a square playground is 256.6404 square

metres. Find the length of one side of the playground.

o Watch Video Solution



https://dl.doubtnut.com/l/_TlgSp4oyST2Y
https://dl.doubtnut.com/l/_SC9dvTpfbBw4
https://dl.doubtnut.com/l/_P8zBdDWu7ehE

141. What is the fraction which when multiplied by itself

given 0.00053361 ?

o Watch Video Solution

0 V/59.29 — /5. 29

142. Simplify .35+ V5

v 0. 2304 — v/0. 1764
V0. 2304 + /0. 1764

(i)

o Watch Video Solution

143. Evaluate ./50625 and hence find the value of

v/006. 25 + /5. 0625

o Watch Video Solution



https://dl.doubtnut.com/l/_cwnJ7M33Df4R
https://dl.doubtnut.com/l/_08II1M3qV7zj
https://dl.doubtnut.com/l/_hpUvSEjGCxYV

144. Find the value of /103. 0225 and hence find the

value of (1)4/10302. 25 (ii) 4/1. 030225

° Watch Video Solution

145. Find the square root of 2 correct to three places of

decimal.

o Watch Video Solution

146. Find the square root of 3 correct to three places of

decimal.

I o \WAilak~hh \iAaAaA CAaliikian



https://dl.doubtnut.com/l/_hpUvSEjGCxYV
https://dl.doubtnut.com/l/_erMwXlJh7mBH
https://dl.doubtnut.com/l/_dgmObK9NmVzu
https://dl.doubtnut.com/l/_jSZXPf2L4VHe
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147. Find the square root of 237. 615 correct to three

places of decimal.

o Watch Video Solution

2
148. Find the square root of 10§ correct to three places

of decimal.

° Watch Video Solution

3
149. Find the square root of 7 correct to four places of

decimal.



https://dl.doubtnut.com/l/_jSZXPf2L4VHe
https://dl.doubtnut.com/l/_KTx3ZMsjneSI
https://dl.doubtnut.com/l/_dXpjoi6l8Cbn
https://dl.doubtnut.com/l/_gPTIax6DP719

l @Y Watch Video Solution J

150. Given that /2 = 1. 414 and /5 = 2. 236, evaluate

: 36 . 625
each of the following 5 (i1) 93

° Watch Video Solution

151. Given that

V2 =1.414, /3 =1.732, /5 = 2. 236 and /7 = 2. 646,

evaluate each of the following : &

7

o Watch Video Solution



https://dl.doubtnut.com/l/_gPTIax6DP719
https://dl.doubtnut.com/l/_XFVp3V4OhlyQ
https://dl.doubtnut.com/l/_VUrg6HWLw5d7

152. Given that

V2 =1.414, /3 =1.732, /5 = 2. 236 and /7 = 2. 646,

169
find the square roots of the following : e

° Watch Video Solution

153. Given that

V2 =1.414, /3 =1.732, \/5 = 2.236 and /T = 2. 646,

2
find the square roots of the following : %

° Watch Video Solution

154. Given that

V2 =1.414, /3 =1.732, /5 = 2. 236 and /7 = 2. 646,


https://dl.doubtnut.com/l/_41g0TUTfzBnF
https://dl.doubtnut.com/l/_fPHehowGFXfb
https://dl.doubtnut.com/l/_lZIE2rmCqMl1

150
find the square roots of the following : —

° Watch Video Solution

155. Given that

V2 =1.414, /3 =1.732, \/5 = 2. 236 and /7 = 2. 646,

256
find the square roots of the following : e

o Watch Video Solution

156. Using square root table, find the square roots of the

following :(i)7(ii) 15

o Watch Video Solution



https://dl.doubtnut.com/l/_lZIE2rmCqMl1
https://dl.doubtnut.com/l/_mV5llAsgxTbU
https://dl.doubtnut.com/l/_tT1MbHO4aF1W
https://dl.doubtnut.com/l/_Pj32KBCHkB2A

157. Using square root table, find the square roots of the

following : (i)82

° Watch Video Solution

158. Using square root table, find the square roots of the

following : 8700 (i) 3509 (i1i) 6929

° Watch Video Solution

159. Using square root table, find the square roots of the

following :(i) 1312

o Watch Video Solution



https://dl.doubtnut.com/l/_Pj32KBCHkB2A
https://dl.doubtnut.com/l/_zCjqu3wMLQ5A
https://dl.doubtnut.com/l/_d3FuUM1KLWub

160. Using square root table, find the square roots of the

following () 22 iy 27
oliowing : (I m 1 1—00

o Watch Video Solution

161. Given that

V2 =1.414, /3 =1.732, /5 = 2. 236 and /7 = 2. 646,

16
find the square roots of the following : =

° Watch Video Solution

162. Using square root table, find the square roots of the

following : 110 (ii) 1110 1111

-y |


https://dl.doubtnut.com/l/_VBeg3lXVVXXA
https://dl.doubtnut.com/l/_G08motnpQk7g
https://dl.doubtnut.com/l/_F7KruBBcRvjI
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163. The area of a square field is 325 m? Find the

approximate length of one side of the field.

° Watch Video Solution

164. Find the length of a side of a square, whose area is
equal to the area of a rectangle with sides 240 m and 70

m.

° Watch Video Solution



https://dl.doubtnut.com/l/_F7KruBBcRvjI
https://dl.doubtnut.com/l/_Yvtamcn1Ke6c
https://dl.doubtnut.com/l/_bk0aB7VeLtHz

